Ans wess
Math 135 — Review Test 2

Part I: For these short-answer questions, you do not need to show any work. Place your
final answer in the space provided. Each answer is worth one point.

1. Evaluate.
(a) —4(-8) = 3d
) —(=3)" = -(g1) - -§l
2. Evaluate. If appropriate, leave your answer in simplified fraction form.
o (1 -S4, L - -3/,
Ww-2-(-3) - Ee4L£- = %
7
b 4 = —_— . —_.L =
(b) —14 “ ( (4 '

3. For the following graph, write the corresponding inequality.

x=|
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Part II: For these questions, show your work and write your final answer in the space
provided.

4. Simplify using the order of operations. If appropriate, leave your answer as a simplified
fraction. Show your steps.

(a) =22 =3 x (—4)+12+3x2 = ~ —(-13)+ ¥ = —4q 413+ ¥ =10

N e - o4 -2 )
B0 34033 )

5. Remove brackets and combine like terms.

5x(2x —y) — 2(y — 32®) = lel_ng *JU*QY-‘\’ 6% - y“‘j ’Qj

6. Evaluate the following for a = 2 and b = —3.

ad—-b = (}7)—(‘5>: &t 3=

7. Solve the following equations.

(a) 02(z —3)+1=032z+4) =) 0.0x-0C-L+ [ = 0.Cx *1.2
78— _ s - 0. 1
(b) 9z —7— 8z =3+z — 10 9&;%: gi,cj,m - 0.6 ¥ -‘:3—;
X=~-7: x-7 ' ~0.g = 0.49x
O - &) O,“[ a.4
3 = X
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() r+2 1 «x > aﬁQX_ﬂa ..J.\-, (.25)3‘1
978 T2 %6 ¥ > G
8. Solve for y. ’3()(-{ 9-) -1 = 4x
S = a? + 2xy See beled Ixt(p -1 = 94X
'5')(-—(9 = ('!X
9. Solve and graph. | —3% -3y
-6 = x
4—3x <6bxr—>5 |
4 %% 43 \ i‘*,{-.-'(g)
4 C9%-S
+S +S

9 C 9% -3 -2 -1 0 2 3
| O %

10. Solve and graph the following.

l—2>2 and z<3
-%x 7 | !

Xl can x &3 -3 -2 -1 0 1 2 3
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